
10771 - GB-CZ-HU-PL-RO-RU  - 0 -  04 / 05

C R Y S A L I S  X E N I U MC R Y S A L I S  X E N I U MC R Y S A L I S  X E N I U MC R Y S A L I S  X E N I U MC R Y S A L I S  X E N I U M

SETTING THE COVER OF BOILER

MONTÁŽ DOLNÍ NA KOTEL

AZ ÉG FEJ BURKOLAT A KAZÁNRA

MONTA  OSLONA NA KOTLE

MONTAREA CAPAC PE CENTRAL

   

Réf. BA - 10771 - GB-CZ-HU-PL-RO-RU  - 0 -  04 / 05



10771 - GB-CZ-HU-PL-RO-RU  - 0 -  04 / 05

5

6

42

3

3

2

8

7

The lower part of
the cover is coated
with a stripable film

Dolní erný kryt je
vybaven ochranným
snímatelným filmem

Az alsó, fekete tetot
egy leválasztható

filmréteg védi

Czarna dolna os ona
jest wyposa ona w

foli  ochronn , któr
mo na zerwa

Capota inferioar
neagr  este prev zut
cu un film protector,
care poate fi r zuit

 
 
 

9



10771 - GB-CZ-HU-PL-RO-RU  - 0 -  04 / 05

Item. Part number Description Qty.

1 58808366  RAPID C 4434-2 fastenning 4
2 58808367  M5 RAPID R 6299 stud 4
3 58808369  HE M5 nut 4
4 58808368  M5 axis screw 2
5 58808370  M5 NUT 8415 A PC nut pliers 1
6 58808185  CHC M5 x 35 screw 1
7 58149478  Lower cover 1
8 58084928  BAXI yellow cover 1
9 58806002  M5 disc 2

RAPID C 4434-2
M5 RAPID R 6299

HE M
M

M5 8415 A PC
CHC M5 x 35

BAXI


